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E105-E109
a b c d e B BE %= = [EEs
a |FC=H O 40| O 40 O1-0 O 21 12 11 1 10 1
b |iDC X 0-4 X 1-2 x 0-2 | A 0-0 1 1 8 -7 5
¢ |wFc x 0-4 | O 21 X 0-2 X 0-4 3 2 11 -9 4
d |FCiv/v x 0-1 | O 20| O 20 A 0-0 7 4 1 3 2
e |Largo x 1-2 | A 00| O 40| A 00 5 5 2 3 3
E110-E114
a b c d e 5T B/ E = |[={d
a |TRJAPAN O 21| O 40 O1-0 A 2-2 10 9 3 6 1
b |FDC ZwkHILALFE X 1-2 O 1-0 O30 X 0-2 6 5 4 1 4
c |oKHFIL x 0-4 x 0-1 X 1-2 x 1-3 0 2 10 -8 5
d [7a—>av74aFC x  0-1 x 0-3 | O 2-1 O4-0 6 6 5 1 3
e |FoboAX A2-2 | O20 | O 31 X 0-4 7 7 7 0 2
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E115-E119
a b c d e B B ES = |[={d
a |ABHIVMILARS O 20| A 1-1 x 2-4 | O 2-0 7 7 5 2 2
b [|teamUis X 0-2 x 0-3 X 0-6 X 1-2 0 1 13 -12 5
c |PTzRMS A 1-1 | O 3-0 O 20| O 6-2 10 12 3 9 1
d |FyraEsy—oL O 42| O 6-0 X 0-2 X 2-5 6 12 9 3 3
e [Evdny X 0-2 x 2-6 | O 2-1 O 5-2 6 9 11 -2 4
E120-E124
a b c d B B [y = [R5
a |AISTYRFILER x 1-5 X 0-6 x 0-4 0 1 15 -14 4
b |YRFLFAFC O 5-1 O20| O 20 9 9 1 8 1
¢ |Fcnae O 6-0 x 0-2 A 1-1 4 7 3 4 2
d  [monosus O 4-0 X 0-2 A 1-1 4 5 3 2 3
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